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AO001 4 o7 0.44 053 0.4 0.59 0.6 039 062 057
AO002 4 os 033 068 0.4 0.56 0.8 048 | 055 = 071
AO008 4 o7 056  0.74 0.3 0.65 0.7 0.78 PEMN o071
AO09 4 o4 M o058 0.4 065 HEEIEAIEEEE o7
A013 4 o7 068 = 03 059 06 057 @ 052 0.25
A014 4 o4 067 074 0.4 0.62 05 065 062 071
AO018 4 os 056 = 0.42 0.4 0.53 0.5 0.7 048 = 071
AO19 4 033 074 03 059 |08 048 045 071
AO21 4 03 o067 068 03 065 04 057 PEM o071
A022 4 o7 033 063 0.3 0.59 0.7 048 = 069 071
A023 -4 os 056 = 053 0.3 0.62 0.8 048 059 071 | 025
A024 4 os 044 068 0.4 0.56 0.4 035 059 071
AQ025 4 o7 068 04 056 07 061 055 071
AO027 - os 033 068 0.4 0.56 0.7 048 & 055 = 071 | 025
AO034 4 o7 044 063 0.4 0.5 0.6 052 & 062 071
AO036 4 os6 078 074 0.4 0.56 0.6 057 045 @ 043
A041 067 042 06 047 @ 05 039 052 @ 043
AQ044 4 o4 056 058 0.56 0.6 052 055 = 043 = 029
A047 4 o3 056 = 047 0.6 0.56 0.6 043 069 057 = 029
A049 4 o5 067 037 0.4 0.47 0.5 039 052 @ 043
A059 4 o5 056  0.63 0.5 0.62 0.7 039 | 083 LN 025
AO060 4 o5 0.67 0.5 0.59 0.6 057 052 = 071
A061 4 o5 0.67 0.5 0.56 0.5 052 = 045 = 071
AO68 4 o8 056  0.63 0.3 0.5 0.6 048 052 = 057 = 029
AQO71 4 o5 033 047 0.5 062 LM 078 052 @ 057 @ 029
BO01 {4 os 067 068 0.56 0.6 0.7 062 057
B0O04 4 o5 0.44  0.68 0.5 0.53 0.8 057 066 071 = 029
BO0O8 4 o4 0.58 0.5 0.65 0.7 057 062 043 | 025
B0O09 4 os 056  0.63 0.74 0.4 061 055 057  0.38
BO14 4 os 033 053 0.6 0.5 04 [P o066 057 @ 029
BO16 4 o5 044 074 05 035 06 057 062 029
B0O17 4 o4 0.78 042 0.4 0.5 0.7 061 045 057  0.33
B0O18 4 o4 056 = 053 0.4 0.41 0.7 057 048 = 043 033
B022 4 o4 067 068 0.4 0.47 0.7 057 052 057 | 025
B023 4 o4 078 058 0.3 0.5 0.7 048 | 052 | 057 = 033
B025 4 o5 067 074 0.3 0.38 0.5 0.3 059 043 = 029
B029 4 o5 056 058 06 041 05 055 057 | 025
B0O30 4 o4 044 042 0.5 0.5 0.6 048 = 055 = 043 Kk
BO31 4 o4 o5 053 @ 03 044 06 055 = 057 BN
BO324 04 o5 053 059 04 057 059 029 [P¥E
B034 4 o5 056 053 0.4 0.53 0.6 061 062 = 029 | 025
B0O35 4 o0s6 044 053 0.3 0.56 0.7 043 052 043 | 025
BO36 4 o5 056 042 0.4 05 JEEM 061 055 043 | 025
B0O37 4 o3 067 063 0.3 0.59 0.7 057 052 = 057
B038 067 063 0.71 0.5 052 059 = 029 033
B042 4 o4 067 058 0.74 0.5 057 052 043 033
BO50 4 o3 056  0.68 0.74 0.4 052 = 052 071 033
B0O51 4 o4 0.67 058 0.3 0.62 052 = 059 0.38
B0O52 4 o3 056 047 0.5 0.68 0.5 052 = 052 0.25
B053 4 os8 056  0.68 0.4 0.62 0.7 048 052 = 071
B0O54 4 o4 0.47 0.3 0.47 0.7 043 048 | 029
BO55 4 o4 047 = 03 044 07 048 = 048 029
B0O56 4 o5 033 042 0.5 0.38 0.6 052 | 048 & 043
B0O58 | os 044 063 0.3 0.56 0.6 052 | 052 | 071
B0O59 4 o0s6 056 = 053 0.3 0.62 0.7 057 052 071 029
B0O6b 4 o5 067 047 0.3 0.53 0.7 052 | 079 029 | 025
B0O67 4 o5 067 053 0.4 0.56 0.6 061 055 057 | 025
B0O69 4 o4 078 042 0.3 0.53 0.6 035 066 071 | 025
BO70 4 o5 067 058 03 059 03 061 059
B0O71 4 o4 067 063 0.4 0.62 0.4 052 = 072
BO74+4 o4 o5 063 JEE 053 04 061 059 043
BO77 4 o5 044 068 04 05 BBEEM 052 066 071
BO78 4 o4 067  0.68 0.4 0.38 0.7 052 = 062 071
B0O79 4 o5 044 063 0.4 0.44 0.8 052 059 071 033
B0O8O 4 o3 067 058 0.3 0.59 0.7 052 066 043 033
B0O81 4 o3 067 058 0.3 0.59 0.7 052 066 043 = 029
B082 4 o3 067 063 0.4 0.53 0.7 052 066 043 | 025
B083 4 o3 056  0.68 0.3 0.74 0.4 052 045 = 071 038
B084 4 o4 067 047 0.3 0.35 0.7 0.3 0.52 0.29
B0O87 4 o3 067 063 0.4 0.56 0.7 048 066 057 033
B0O88 4 o5 056 058 0.3 0.44 0.8 043 069 057 I
B0O89 4 os6 044 063 0.47 0.8 052 066 057
B0O93 4 o5 056  0.63 0.5 0.8 048 062 057 029
B094 4 os 044  0.63 0.4 0.44 0.8 048 059 057 = 029
B096 4 o5 067 047 0.5 0.47 0.5 039 059 057 = 029
B097 4 o4 056 058 0.5 0.44 0.7 039 045 071 038
B098 4 o4 056  0.63 0.4 0.44 0.7 052 | 048 = 071 033
B099 4 o5 044 063 0.4 0.26 0.7 043 041 071 038
B102 4 o5 047 04 041 06 043 055 071
B104 4 o4 067 058 0.3 0.44 0.7 057 059 043 | 025
B106 4 o4 | 078 058 035 05 039 059 057
B107 4 o4 078 026 0.4 0.47 0.7 061 048 057 = 029
B108 4 o3 033 063 0.3 0.79 0.5 052 | 045 043 054
B110 :% 067 063 0.79 057 045 071 | 025
B111 067 068 N2 082 M o57 048 071 | 025
B112 4 o4 067 058 0.3 0.74 0.6 061 048 071 | 025
B113 4 o4 0.67 063 0.71 057 052 = 071 = 029
B114 4 o4 0.44 058 0.3 0.74 0.3 057 045 043  0.38
B115 ﬁ 0.67 068 0.76 061 045 071 | 025
B116 0.44 063 0.3 0.79 0.4 048 045 = 071 058
B117 4 os 0.63 0.5 0.5 0.8 052 | 066
B118 4 o3 056  0.63 0.3 0.76 05 061 045 = 057 0.5
B119 4 o4 067 058 0.3 0.74 0.8 061 059 071 0.38
B120 4 o4 067 063 0.3 0.74 0.6 0.7 055 071 038
B121 4 o5 056 068 0.4 0.65 0.3 057 072 0.33
B123 4 o7 067 063 0.5 0.53 0.6 052 069 = 029 046
B124 4 o5 056 063 0.8 0.47 0.6 052 @ 048 = 071 | 025
B126 4 04 044 058 065 04 043 048 057 05
B128 4 o4 044 068 0.6 0.74 0.5 057 062 071
B1294 o7 03 042 04 041 06 048 = 062 0.25
B1304 o5 03 026 04 0.5 0.5 052 | 052
B131 4 o7 067 042 0.6 0.59 0.7 057 045 = 071
B133 4 o5 067 037 0.5 0.47 0.7 035 055 071
B134 4 os 056 047 04 041 07 035 062
B137 4 os 067  0.68 0.3 0.6 057 048 = 057
B139 4 os 044 042 0.4 0.5 0.6 057 052 | 057
B140 4 os6 056 = 047 0.3 0.56 0.8 052 | 048 | 057
B144 4 os 044 058 0.4 0.44 0.7 048 = 055 = 043
B151 4 os6 056  0.68 05 0.41 05 052 = 045 = 071
B153 4 o4 0.78 063 0.6 0.59 0.4 052 = 052 = 043
B156 4 o0s6 033 058 0.8 0.35 05 043 069 043
B158 4 o3 056  0.68 03 082 03 061 052 = 071
B161 4 o5 056 I 0.5 0.32 0.8 057 041 057
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